Instruction Guide

IH 06-66 Step & Handrail - With Cah
(PN: Step-3347 / Handrail-3341 / Optional 4th Step-3330)

1. Bolt the angle bracket to the clutch housing with a
Clutch 3/4” x 2” capscrew and lock washer, or existing bolt if
Housing adequate.

2. Determine the appropriate number of spacers needed, equivalent to
the thickness of an existing bracket which also occupies the same
mounting hole. Fasten the spacer(s) to the
angle bracket with a
e - 172 x 1 1/2”

- '~

e ~._ capscrew

Mounting .\\ and
Holes . \, flange
! v nut.
Handrail I |
/ \ b |
U p \\. == \\ /
‘ N/
Angle 7
Bracket < /‘/
Pivot Bracket PN: 1'0740 '\-> P
. . .\.\ ’./‘
PN: 10747 PSS < Tl
\ - '~ T

(3. Fasten the support frame to the
\  angle bracket with two 1/2” x 1 1/2”
! capscrews and flange nuts; and one
/ 3/4” x 2" capscrew and lock washer to
7 the protruding hole on the side of the
clutch housing. NOTE: Equal number
of spacers must also be used on the
side hole as was used in step #2.

1
Support
Frame

Top Step PN: 10743
S 4. Attach the pivot bracket to the support frame
' at the desired position and secure with two 1/2”
x 1 1/2” capscrews and flange nuts.
5. Insert the pivot arm of the top step section into the pivot
Bottom Step bracket and fasten with two 5/8” x 4” capscrews and flange
Section nuts.
PN: 11596

6. Fasten the bottom step section with two 3/8” x 3/4” carriage bolts
and flange nuts on the right side (or rear side) of the step.

7. Use two 3/8” x 1”7 carriage bolts and flange nuts on the left side (or front side); also include the
handrail at this location.

Support Center Phone 800.328.1752 / Web Site www.tractorseats.com

007-1H-3347-006



